—

4 eFPEER

TS FERJRFAERR (F14FF208)

BELA e N B 1 N T
(pg-TEQ/m")
1 [HEEsT\BILEEER — 0.0036 0.0038 0.0057 0. 0044
2 |HBEEERTE — 0.0039 0.0070 0.0070 0. 0060
3 MR ERMEE 24— — 0.014 0.016 0.027 0.019
4 | R T R oY RAE - 0.0053 0.0098 0.0048 0. 0066 0.6 pg-TEQ/m3
MEET Y — 0.0036 0.0036 0.0040 0.0037 : (Epfp 91E)
6 |AREETREERT 0.0046 0.0095 0.0037 0.0057 0. 0059 =
FEgfE]  0.0076
FAIE 0.027
S/ME[  0.0036
(2 £M5EEALAKE KB, EE) AEHRE (X143 08)
A oKy | mmmE ok E & R (EH)
pg-TEQ/L)
1 [BEEAIEERIISHREAN S EH100m 0.037 0.44
2 |HENIFAINNERS 0.13 0.95
3 |SBREBIIKGIETERE = 0.077 1.2
4 | A FEEUKISET 0.13 0.44
5 |EBNEEE 0.60 1 pg-TEQ/L 5.5 150 pg-TEQ/g
6 |InEsEEaE 0.15 14
SHFEHE 0.19 3.8
RS KE 0. 60 14
£ hm/IME 0.037 0.44
B) FHSEEMTKAETHER (F4A4F5H)
= #T oK =
=[] =1 = P
FEH A (pg-TEQ/L) REREE
1 |#EH BEXEXOHE 0.025
2 |HHER |[ERe—Tr—Fi— 0.029
3 [EfAtT HI5—H— 0.035
4 [&ET EHXNGohh—) 0.024
5 |5%FMm |FhY H— 0.024
6 |hiBEH 1A—XH— 0.023 1 pg-TEQ/L
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8 |IREEH N AH— 0.025
EHiE 0. 026
m=AE 0.035
w=/ME 0.023
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=/ME 0. 040

6) LFMENOHHE - BBECKRLIPREOBHINR (FMN4EED)

BHEERH | BHYER

205 44
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